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SJEENT 13.17. x B 44 910 DI, [T 6 (3, 6) 3R (x, 4) F YR dTell ¥l

el x, =6, y,=3;x,=4, y, =10.

Pl YguTaT 2 B |
- U _ yz_y1:4_6: -2
gt - X, =X x=3 x—3
-2
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3
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13.8.1 AR IG@T DY YGUTT
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SRR m.m,=-1 = tan 6, tan 6, = -1

:>tan¢9,=—t 19 =—cot02=tan(900+t92)
an 6,

T

I - IV
Frdonien

273



I - IV
fdvmien

[ @l IS WOTTet
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C(9,-2) TATD(6,-5) & BB STl & b AR & |

3-6 -3
: VAT AB &) 9gurdl = —— =1
ot | 5O

2-5 -3
~5+42 -3
el - =——=]
IGT CD &I YgqordT 6.0  _3
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(i) famgait (7,-1) T2 (0,3) BT A arelt a1 & AR 2|
(ii) fa=ga31T (4,5) T2 (0,-2) BT fie™ arel ¥@1 & ofead !
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RT3l TR 99 WIS Hed 2 |
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2 3R 59 UPR U< y b A Bl y 3T WIS bed 2 |

el 1. T A1 Sl JeAfdg ¥ Bd I & &l W Bl 3ic: GUS 8l g7 |
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. ﬁ;nn?ﬂﬂﬁﬂfﬁ%ﬂﬂtanﬁﬂ:iw%HWtan¢W§3wﬁ9
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TETEXUT 13.23. I XE@RI & 19 FADI0T T AfARHI0T S difory R gaorarg
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=0 B THHRT F(X + h, y + k) = 0 % uRafida 8 Srar 21
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g : Tl (b, k) =(=3,2), (x,y) =(1,2), &, y)=?

X=x-h=1+3=4
y=y-k=2-2=0
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SEIERT 13.27. 99 o g &1 316l & AR gRT 85 (3, 4) W IR
PR e ST § 99 Y@M 3x + 2y — 5 = 0 3 uRafdd FHiaRe S BT |
& : T2l (h, k) = (3, 4)
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m

ny —m

1
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3. fawgait (3. -5) 3R (=6, 8) BT ™ dTel Y@RAvS &7 W&y =g S WY |

4. B &1 eFme wa Sy fae et @ fdes §
(a) (1, 2),(-2,3),(-3,-4) (b)(c, a), (c+a, a), (c—a,-a)
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